
 
MOCK BASED ON PATTERN ASKED IN FIRST DAY OF IBPS CLERK MAINS 2016 

REASONING SOLUTIONS 

1. (A) 

2. (C) 

3. (A) 

4. (E) 

5. (C) 

 
 

6-3 

7-3 
8-2 
9-4 
10-4 
 
Floor No. Person 

8 C 
7 D 

6 A 
5 G 

4 P 
3 Q 

2 M 
1 R 

 

 

 

 

 

 

11. (e) 
12. (a) 
13. (b) 
14. (c) 
15. (e) 
 
Solution for Q.(11-15): 
 
P      U      S      T      R      Q 

C      F      A      E      B      D 
 
 
Solutions (16-20): 

16. (5) There are 4 such combinations – ZT4, DF1, MH3, 
NP6.   

17. (5) There are 4 such combinations – T4A, F1U, H32, 
P6D  

18. (3) There are 2 such combinations – U#, I©.   
19. (2) Except 9DF, every other combination has a gap 

of one position between each letter in the 
arrangement. 

20. (2)  
 

 
Solutions (21-25): 

21. (1) 
22. (4) 
23. (4) 
24. (3) 
25. (1) 

 
  
(26-30) 
26. (4)  

 
27. (2) 

 
28. (1) 

 



29. (1) 

 
30. (1) 

 
(31-35) 
 are   kee 
 armymen   tee 
 firefighters   mee 
 enthusiastic   pee 
 people   nee 
 courageous   loo 
 being   jee 
 positive/unpleasant   dee/see 
31. (2) 
32. (2) 
33. (4) 
34. (2) 
35. (5) 
 
Directions (36 – 40) 

36. (1) Only I is sufficient. 

 

37. (5) D is third tallest among these. 

38. (4) It cannot be determined from both the 

statements that how many sisters K have. 

39. (2) 

40. (5) Code for go is ‘pa’. 

 


